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INDIAN ECONOMY 1950-1990
Question 1:

Define a plan.

ANSWER:

A plan is a proposed list of goals that an economy wants to achieve within a specific
period of time. It suggests the optimum ways to utilise the scarce available resources to
achieve the enlisted goals. In India, planning is done for a period of five years, which is
called five year plan. Plans have both specific and general goals. Some of the common
goals are economic growth, modernisation, self-reliance and equity. Plans lay down the

basic framework over which the policies are designed. Often various goals are conflicting
to each other, for example, modernisation reduces labour employment. So there is a

need to maintain a balance among different goals. T JISTAT 3o7 T&AT &l Teh JEATdd
T & St T ¥cyaedr v faftse Ay A & i} gifde e uiEdr g1 I8
FAIECH el @l Yo el & folv golsT 3Ueletl HATHHAT HT 3UANT A & T
gSCaH alleh FATN &1 HRA #A, WA 9 ant 1 3@ & fow fear s g,
o dgadita TSt gl SIrar g1 Aot & e 3R amew et aew g £
T AT e 3T T, 3Mefehiaor, HeAfTeiar 3R sfFadr g1 disame
HT TRET IR KA &, 9 w® Afaar aar & o €1 3R [ffe deg v-
Y & AT e AU gia g, 3o & fou, MYARHIOT s Vs’ &l A
AT &1 FATAC e sl & o HJolel ST I@A T MaTehaT ol

Question 2:

Why did India opt for planning?
ANSWER:

Soon after independence, India faced an important choice to opt either for capitalism or
socialism. Finally, India, inspired by the extraordinary success of planning in Soviet



Union, opted for socialism. Although, Indian political and economic conditions were not
as favourable as it was for Soviet Unions to opt for socialism, yet India adopted socialism
but with a difference. India hinged upon the socialist idea with a strong emphasis on
public sector and active participation of the private sector in a democratic framework.
The Planning Commission (1950) was established with the motive that the government
would undertake comprehensive planning for the nation as a whole, where public sector
would lay down the basic economic framework and would encourage private sector for

their active contribution to the economic growth. Fad=dl & X d1G, AR @l Yaiarg
o1 gATSAG &l dhed Folel & U Teh HAgeaqol fdehed T HHAT &l 9Tl
ITERSR, AIfGTd 9 A IISTAT delled hI FATYRT Fheldl ¥ IRT AR o FATSAIG
F1 fawed TATl g, SR Toeiias 3R e aRkfeafaat saei seqger 8
i, e afaad gfagst & gArsare &1 fdehed gar ar, Y 8t 9Rd & gATSEKE
I AT Afthe] Teh IR & HY| AR Aldoliaieh &7 W Teh FHoldd SR AR Th
dlshdilAe e A s a7 &1 afhy #efier & a1y JASaR f[Tar @ e gl
JSTAT 3T (1950) $H 36T & 1Y TS fham a1 o1 & @R 7T &9 4
Usg & fov e Al SoA1wel, Siel draelieie & Jiaamdr e o # §eru
G 3R 3 e & 30 afha aree & fow &6 & & gicarfgd e

Question 3:

Why should plans have goals?
ANSWER:
Every plan should have specified goals. Plan without goal is like life without soul. While

a plan specifies the means and ways to allocate scarce resources to achieve proposed
targets, goals are the ultimate targets, the achievement of which ensures the success of

plans. Thus, plans must include the goals. ¥ I H fAfése e g1 afgwl o
T AT 3T & 91 Shad & FAT &1 Sdfh Teh IAlar JEdidd od8ay i
U A & ToIT golsr HATHET T 3afed el & @rerel AR adient 1 fAfdse e
g, e HTOH oeg §, [SoAd & 3uclict TSii3il &1 dhelcl FiATEd Xl &1 59
YR, A3l H ofedi I AT HT arfgu|




Question 4:

What are high Yielding Variety (HYV) seeds ?

ANSWER:

High Yielding Variety of seeds was developed by the Nobel Laureate Dr. Narman Barlauf
in Mexico. These seeds are more productive and need regular and adequate irrigation
facilities along with greater use of fertilisers and pesticides. In 1966, consequent to the
use of HYV seeds, Indian agricultural sector experienced Green Revolution, especially
in the crops of rice and wheat. HYV seeds grow faster than the normal seeds and,
consequently, crops can be harvested in a much shorter time period. Initially, HYV seeds
were used in states like Punjab, Andhra Pradesh and Tamil Nadu (as these states had

more suitable irrigation facilities) and later on to other states. Consequent to the use of
HYV seeds, the production of food grains in 1967-68 increased by 25% (approx).

AfFEe 7 e fasidr ST 7 SRABPS gl sl 1 3= 3997 fafauar fasfad
A as A T AT 34 Icueh gl & 3N AR 3R Hreamrernt & 3fs 39T
& FY-ArY FAfAT AR adica [farg giaensit v 3raegendn gidr g1 1966 #, HYV
SISl & 39197 & IRUTATIRY, AR $Y &7 o gRA Fifa F1 3egera fFar, T
drael 3R NG N BEel Al HYV & ST AT sl H Jorar # dofl F g6 § AR
HelEa®T, BHel HT Helg Tgd FH TAT H HT ST Tehell &1 IR H, TS, Y T
3N AffeeTg S Tedl A HYV Sfisll &1 39Aier faar @ ar (Fife g asar A
fers 1 3fte sugerd giauw o) iR &g & 307 T Al HYV &6l & 39T
& IRUMATIET, 1967-68 H WIEHTesl Hl 3cUIGed 25% (SIITHIT) §¢ 1T
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